[ Efficiency vs vertpos |

~ 0.5

©0.4BF oo T T R
2 : : :
O o e

Q . . .
ol IR SRR e R

0.3
0.25
0.2
0.15

effi

ICI
TTTT

.................................................

TTTTTTITTTTR
b

0.1~
(005 SRR R EERCRCREERES Tl
E NPT B,
el J‘C‘: I B Tl +
= F4 : Lo |
o LOSE{|H-{TI4T F AT
B 41
B4+ 14
F +1 14T +
E 111+

[EnN
2
N
=
o
N

1 10 0?
TP vertr (cr%)

—=— DQM_TT__mkFit-DQM_original-0

— —e— DQM_TT__mkFit-DQM_mod-127
Efficiend QM_TT_ QM.

—+— DQM_TT__mkFit-DQM_mod_updatedmod-127

~ 0.5
20.45
o
> 04
>
2
50.35
0.3
0.25]
0.2
0.15
0.1
0.05

effic

................................................

...............

[y

30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~N 0.5
>
B.0.45
1S
175} 0.4
20.35

&
c 0.3
2
Q

.................................................

.................................................

......................................

I
i

0.952

20 =15 -10 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


